Al (1)

(/2
o = 20164 Gil&red | 2017 ol aroy = 2 o s 5 »
3_4 | & | = (A (8) (8-A)
z 3 1,644,409,214| 1,816,618,199| 172,208,985
ARl 42l 1,071,600,000| 1,137,600,000 66,000,000
A4l 1,071,600,000| 1,137,600,000 66,000,000
BEA AR 804,000,000| 822,000,000 18,000,000/ 8t A AbRI2-2) 822,000,000
BARE A 64,000,000  x 12 @ = 768,000,000
B AGHE A 4,000,000 x 2@ = 48,000,000
o A | Ef 4 @) (X BHOH) 500,000 x 2@ = 6,000,000
ZUANYLLY 120,000,000| 168,000,000 48,000,000 H2AIRI42 168,000,000
EI=Pe 14,000,000  x 12 8 = 168,000,000
HgapsY 147,600,000| 147,600,000 NEECEESY 147,600,000
EYAYLY 8,000,000  x 2@ = 96,000,000
TEARAY 2,300,000 x 2@ = 27,600,000
G AR 4l 400,000 x 60 = - 24,000,000
PIELPY 0 0 0
PIEL-P 0 0 0
PIEL=PYC] 0 0 0| sy 0
PIEL=PRY 0
Bx34e 452,285,001|  570,698,199| 118,413,198
SRS 417,074,411| 489,870,208 72,795,797
+ 9 ol 2 i 380,656,411| 450,995,308 70,338,897| o 21 HI 450,995,308 CIZTTEM 383,250,748
2 00oI=3) 274,701,000
Mg 108,558,748
1. a0l 27,445,380
2. Mg 1,200,000
3. =4y 4,320,000
4. oimmELY 75,593,368
NERRES 67,735,560
IRCEEDE 31,938,310
2. MBI B RTHIE 35,797,250
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(Er21/8)
= 201641 01 &r94 | 2017 Oflaros s - a 3
o 2 = (A (8) (8-A)
29l 25,138,000 26,394,900 1,256,900| 222t 26,394,900
1. AIEg JI2X&(104) 16,682,400  x 1d = 16,682,400
2. YAARAINEINS KA 194,250  x 5 & = 9,712,500
HHIATI®AIIHI | 11,280,000 12,480,000 1,200,000( IHT 2 12,480,000
(&, 2 AL FHHXE3) ANAE 40,000  x 6 & x 12 8 = 2,880,000
dAxE 100,000  x 8 & x 12 8 = 9,600,000
ELEE 0| 44,350,000 44,350,000
IS RSN 0|  44,350,000(  44,350,000( JIsE2 Atelt| 44,350,000
IsSEL(AHEEM DA % SFHA) 44,350,000
JlEHEES 35,210,590 36,477,991 1,267,401
+o WENEEES 35,210,590 36,477,991 1,267,401 Mg AR RER 36,477,991
oIH| 27,940,021
Hedg2do0l4340/2H01#~058) 2,301,556 x T8 x 54 = 11,507,780
HEMe3H0la4H0/2H 068 ~128) 2,347,463 % 1T g x 7 &8 = 16,432,241
AETRES 4,937,970 =
IBGEELE 2,328,330 -
EEEEE] 27,940,021 x 1712 = 2,328,330
2. NS ESEH S 2,609,640 -
=093 27,940,021  x  9.00% x 12 = 1,257,300
UALEE2 27,940,021 x  6.12% x 172 = 854,960
INQLEER 854,960 x  6.55% X% 12 = 27,990
nsgeEe 27,940,021 x  0.90% = 251,460
SAHEEE 27,940,021 x  0.78% = 217,930
AreiH 3,600,000 =
HgNSed 300,000  x 12 8 = 3,600,000
JEREZ4Y 0 0 o Nl x4 0
JEEES4Y
0| 20,000,000 20,000,000
s34 0 20,000,000 20,000,000
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Al (3)
(erol/2
= 201641 01 &r94 | 2017 Oflaros s - a
@ - = 7 (®) (B-A)
B 0| 20,000,000 20,000,000 NFEHZ 20,000,000
NEZ=AS(H=3s238 F2I1H7L X) 20,000,000
CPEELE 0 0 ol inE=A2 0
BXE=d= 0
HES 7,230,000( 12,000,000 4,770,000
=HE 7,230,000( 12,000,000 4,770,000
SRR 0 2,000,000 2,000,000| elEeI2 2,000,000
golNas 2,000,000
SRR 7,230,000( 10,000,000 2,770,000| HeIRA(F2R) 10,000,000
(£83) SEESEETEELTE) 0
HolMAS(HIXNE=R3) 10,000,000
o3 53,834,213|  29,000,000( A 24,834,213
VEE 53,834,213 29,000,000( A 24,834,213
SELAEE 51,653,253|  25,200,000( A  26,453,253| AZ0IHS 25,200,000
dEE 01E= 25,000,000
eI CE S E TP 200,000
SIEEGEE 264,000 oA 264,000 FHESOIBR(FHE) 0
(£83) SEEVEENEESE) 0
SR EE) 0
=NEE S 1,916,960 3,800,000 1,883,040 2 4= X301 ARt 3,800,000
JERETR VENE-EIEEEETREETIEE S 3.720.000
() OIZASHI (MBI AT AL HI 2 X2 H T2 3) 80,000
=g 59,460,000 47,320,000( A 12,140,000
g4l 59,460,000  47,320,000{ A 12,140,000
=SS0 1,000,000 5,000,000 4,000,000( =S S0H20H 5,000,000
=SS 5,000,000
J|EHOIS 01 R+ 200,000 200,000 0| JIEHGIS Ol Rt ==& 200,000
- 2] 2X3 A 6=0IAt 100,000
AES HZ 03 0IX 100,000
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A& (4)
(cH21/2)
o = 20164 Ol&re | 20174 oflaros 5 2 4 s 5 »
o 2 = (A) (B) (8-A)
JlEELY 58,260,000  42,120,000{ A  16,140,000| JIEFE 4l 42,120,000
SANI SAH = 60,000 x 9 ¢ 12 8 = 6,480,000
=3 SAH = 40,000 x 50 & 12 8 = 24,000,000
M3 =X SEASH 100,000 x 10 & = 1,000,000
HAME=s =< 5,000,000 x 2 8 = 10,000,000
JIE E=¢ 640,000
ANBIEXHO HQUENNE A0 X TS




